

**BID2025-87 FURNISHING AND DELIVERY OF METROPOLITAN 94/M DUCTILE IRON FIRE HYDRANTS FOR A PERIOD OF ONE (1) YEAR TRENTON WATER WORKS VIRTUAL BID OPENING 10/21/2025 AT 11:00AM**

BID2025-87 FURNISHING AND DELIVERY OF METROPOLITAN 94/M DUCTILE IRON FIRE HYDRANTS FOR A PERIOD OF ONE (1) YEAR FOR THE CITY OF TRENTON, DEPARTMENT OF WATER AND SEWER, TRENTON WATER WORKS VIRTUAL BID OPENING 10/21/2025 AT 11:00AM				
NUMBER OF BIDS SUBMITTED	4			
NAME OF PROPOSER	BRENT MATERIAL COMPANY	RARITAN GROUP INC	FERGUSON WATERWORKS	CAPITOL SUPPLY CONSTRUCTION PRODUCTS LLC
ADDRESS	325 COLUMBIA TURNPIKE SUITE 308	301 MEADOW RD	507 OAK GLEN ROAD	149 OLD TURNPIKE RD
CITY, STATE, ZIP	FLORHAM PARK, NJ 07932	EDISON, NJ 08817	HOWELL, NJ 07731	WAYNE, NJ 07470
CONTACT NAME	LINDA GARDNER	THOMAS M. RICHARDSON	JOHN MASTROGIOVANNI	HUGH MALLEY
TELEPHONE	973 325 3030	732 985 5000	848 992 2132	973 627 5200
FAX	973 325 7360	732 985 5002	N/A	973 627 1790
E-MAIL	<a href="mailto:LINDA@BRENTMATERIAL.COM">LINDA@BRENTMATERIAL.COM</a>	<a href="mailto:MIRO@RARITANGROUP.COM">MIRO@RARITANGROUP.COM</a>	<a href="mailto:JOHN.MASTROGIOVANNI@FERGUSON.COM">JOHN.MASTROGIOVANNI@FERGUSON.COM</a>	<a href="mailto:HUGHMALLEY@CAPITOLSUPPLYCONSTRUCTION.COM">HUGHMALLEY@CAPITOLSUPPLYCONSTRUCTION.COM</a>
DISCLOSURE OF OWNERSHIP STATEMENT(MANDATORY)	INCLUDED	INCLUDED	INCLUDED	INCLUDED
ACKNOWLEDGEMENT OF RECEIPT OF ADDENDA	N/A	N/A	N/A	N/A
NON-COLLUSION AFFIDAVIT MANDATORY	INCLUDED	INCLUDED	INCLUDED	INCLUDED
EQUAL EMPLOYMENT OPPORTUNITY LANGUAGE (EXHIBIT A)	INCLUDED	INCLUDED	INCLUDED	INCLUDED
REQUIRED EVIDENCE EEO/AFFIRMATIVE ACTION REGULATION CERTIFICATE	INCLUDED	INCLUDED	INCLUDED	INCLUDED
AMERICAN WITH DISABILITIES ACT OF 1990 LANGUAGE	INCLUDED	INCLUDED	INCLUDED	INCLUDED
DEBARMENT NOTICE	INCLUDED	INCLUDED	INCLUDED	INCLUDED
CERTIFICATION OF NON-DEBARMENT FOR FEDERAL GOVERNMENT CONTRACTS	INCLUDED	INCLUDED	INCLUDED	INCLUDED
DISCLOSURE OF INVESTMENT ACTIVITIES IN RUSSIA OR BELARUS	INCLUDED	INCLUDED	INCLUDED	INCLUDED
CERTIFICATION OF NON-INVOLVEMENT IN PROHIBITED IRAN	INCLUDED	INCLUDED	INCLUDED	INCLUDED
CITY OF TRENTON RESIDENT EMPLOYMENT POLICY	INCLUDED	INCLUDED	INCLUDED	INCLUDED
CITY OF TRENTON ETHICS COMPLAINT DISCLOSURE	INCLUDED	INCLUDED	INCLUDED	INCLUDED
NJ BUSINESS REGISTRATION CERTIFICATE (PRIOR TO AWARD)	INCLUDED	INCLUDED	INCLUDED	INCLUDED
EIC (EMPLOYEE INFORMATION CERTIFICATE)	CERT#10438 EXP 04/15/2027	CERT#39661 EXP 04/15/2027	CERT#33467 EXP 01/15/2026	CERT#33163 EXP 11/15/2030
GRAND TOTAL AMOUNT - SEE ATTACHED BREAKDOWN	<b>\$263,346.00</b>	<b>\$263,996.64</b>	<b>\$265,745.58</b>	<b>\$286,479.36</b>
60-DAY EXTENSION COMPLIANCE	YES	YES	YES	NO
COMPLIANCE WITH EMERGENCY SERVICES	NO	NO	NO	NO
EXCEPTIONS	NONE	SEE ATTACHED	NONE	NONE
THREE (3) REFERENCES	INCLUDED	INCLUDED	INCLUDED	INCLUDED
FATAL FLAW	NONE	NONE	NONE	NONE

BRENT MATERIAL COMPANY

**Bid Proposal:** The undersigned proposes to furnish all materials per specifications and deliver them to Trenton Water Works Cortland Street Yards in accordance with the following:

Item #	Material Description	Qty	Unit	Unit Price	Total
1	<b>Metropolitan M-94 Fire Hydrant, w 4.5" Main Valve Opening' x 4'-0" Bury</b>	12	Each	3,494.00 \$	41,928.00 \$
2	<b>Metropolitan M-94 Fire Hydrant, w 4.5" Main Valve Opening' x 4'-6" Bury</b>	15	Each	3,558.00 \$	53,370.00 \$
3	<b>Metropolitan M-94 Fire Hydrant, w 4.5" Main Valve Opening' x 5'-0" Bury</b>	12	Each	3,623.00 \$	43,476.00 \$
4	<b>Metropolitan M-94 Fire Hydrant, w 4.5" Main Valve Opening' x 5'-6" Bury</b>	15	Each	3,687.00 \$	55,305.00 \$
5	<b>Metropolitan M-94 Fire Hydrant, w 5.25" Main Valve Opening x 5'-0" Bury</b>	15	Each	3,820.00 \$	57,300.00 \$
6	<b>Metropolitan M-94 Fire Hydrant, w 5.25" Main Valve Opening x 6'-0" Bury</b>	3	Each	3,989.00 \$	11,967.00 \$
<b>Grand Total &gt;&gt;</b>					<b>\$ 263,346.00</b>

Bids shall be awarded based on the lowest responsible and responsive bid meeting the specifications.

## RARITAN GROUP INC

**Bid Proposal:** The undersigned proposes to furnish all materials per specifications and deliver them to Trenton Water Works Cortland Street Yards in accordance with the following:

Item #	Material Description	Qty	Unit	Unit Price	Total
1	Metropolitan M-94 Fire Hydrant, w 4.5" Main Valve Opening' x 4'-0" Bury	12	Each	\$3,502.31	\$42,027.72
2	Metropolitan M-94 Fire Hydrant, w 4.5" Main Valve Opening' x 4'-6" Bury	15	Each	\$3,566.93	\$53,503.95
3	Metropolitan M-94 Fire Hydrant, w 4.5" Main Valve Opening' x 5'-0" Bury	12	Each	\$3,631.53	\$43,578.36
4	Metropolitan M-94 Fire Hydrant, w 4.5" Main Valve Opening' x 5'-6" Bury	15	Each	\$3,696.14	\$55,442.10
5	Metropolitan M-94 Fire Hydrant, w 5.25" Main Valve Opening x 5'-0" Bury	15	Each	\$3,829.81	\$57,447.15
6	Metropolitan M-94 Fire Hydrant, w 5.25" Main Valve Opening x 6'-0" Bury	3	Each	\$3,999.12	\$11,997.36
Grand Total >>				\$263,996.64	

Bids shall be awarded based on the lowest responsible and responsive bid meeting the specifications.

## EXCEPTIONS

- 1.) DUE TO CURRENT MARKET CONDITIONS AND MATERIAL SHORTAGES LEAD TIMES MAY VARY FROM STOCK-24 WEEKS AND CAN CHANGE AT ANY POINT.
- 2.) WE CANNOT EXTEND PRICING PAST THE 12 MONTH CONTRACT DURATION WITHOUT PRIOR APPROVAL FROM OUR VENDORS. WE ARE NOT WILLING TO EXTEND WITH SAID APPROVAL.

FERGUSON WATERWORKS

**Bid Proposal:** The undersigned proposes to furnish all materials per specifications and deliver them to Trenton Water Works Cortland Street Yards in accordance with the following:

Item #	Material Description	Qty	Unit	Unit Price	Total
1	<b>Metropolitan M-94 Fire Hydrant, w 4.5" Main Valve Opening' x 4'-0" Bury</b>	12	Each	\$ 3,525.52	\$ 42,306.24
2	<b>Metropolitan M-94 Fire Hydrant, w 4.5" Main Valve Opening' x 4'-6" Bury</b>	15	Each	\$ 3,590.56	\$ 53,858.40
3	<b>Metropolitan M-94 Fire Hydrant, w 4.5" Main Valve Opening' x 5'-0" Bury</b>	12	Each	\$ 3,655.59	\$ 43,867.08
4	<b>Metropolitan M-94 Fire Hydrant, w 4.5" Main Valve Opening' x 5'-6" Bury</b>	15	Each	\$ 3,720.62	\$ 55,809.30
5	<b>Metropolitan M-94 Fire Hydrant, w 5.25" Main Valve Opening x 5'-0" Bury</b>	15	Each	\$ 3,855.18	\$ 57,827.70
6	<b>Metropolitan M-94 Fire Hydrant, w 5.25" Main Valve Opening x 6'-0" Bury</b>	3	Each	\$ 4,025.62	\$ 12,076.86
<b>Grand Total &gt;&gt;</b>					<b>\$ 265,745.58</b>

Bids shall be awarded based on the lowest responsible and responsive bid meeting the specifications.

CAPITOL SUPPLY CONSTRUCTION PRODUCTS LLC

**Bid Proposal:** The undersigned proposes to furnish all materials per specifications and deliver them to Trenton Water Works Cortland Street Yards in accordance with the following:

Item #	Material Description	Qty	Unit	Unit Price	Total
1	Metropolitan M-94 Fire Hydrant, w 4.5" Main Valve Opening' x 4'-0" Bury	12	Each	\$ 3800.58	\$ 45,606.96
2	Metropolitan M-94 Fire Hydrant, w 4.5" Main Valve Opening' x 4'-6" Bury	15	Each	\$ 3870.70	\$ 58,060.50
3	Metropolitan M-94 Fire Hydrant, w 4.5" Main Valve Opening' x 5'-0" Bury	12	Each	\$ 3940.80	\$ 47,289.60
4	Metropolitan M-94 Fire Hydrant, w 4.5" Main Valve Opening' x 5'-6" Bury	15	Each	\$ 4010.91	\$ 60,163.65
5	Metropolitan M-94 Fire Hydrant, w 5.25" Main Valve Opening x 5'-0" Bury	15	Each	\$ 4155.97	\$ 62,339.55
6	Metropolitan M-94 Fire Hydrant, w 5.25" Main Valve Opening x 6'-0" Bury	3	Each	\$ 4339.70	\$ 13,019.10
<b>Grand Total &gt;&gt;</b>					<b>\$ 286,479.36</b>

Bids shall be awarded based on the lowest responsible and responsive bid meeting the specifications.